VS00 0067 Carport A 323x371

Zeichnung/Drawing

3D

Profil/Profile

DDDDDDDDDD 08022021|-



AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
VS00_0067 Carport A 323x371

AutoCAD SHX Text
3D

AutoCAD SHX Text
08.02.2024


3750

5090
3710

3250
2
250 jZO 3010 : g 250
K
O
| ~+ o
(Ng] (W]
o =
&
7 o | ~ . 0 O
< 2
o =
N
1] ~ w0
X
\»]
- -

3130

Name

VS00 0067 Carport A 323x371

Zeichnung/Drawing

Grundplan, Plan

Profil/Profile

Datum/Date 08022024



AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
C

AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
VS00_0067 Carport A 323x371

AutoCAD SHX Text
Grundplan, Plan

AutoCAD SHX Text
08.02.2024


3750

B o EER I I S (R T
| | | | | |
o o N o o o | o o o N o o
o o __P o o __P o o __P o
| | | | | |
_ _H I
@ | o | @ |
— — —
MHUHQHHHHHMMUHEHHHHHHHUHHHMHW
| | | | | |
| | | | | |
| | | | | |
| | | | | |
e = || = = & = = &~ = o
(AN [an [an [an [an (AN [an [an [an [an
%) %) _ _ 1%, %, %) _ _ %, %) 1%, _ _ %, %)
| | | | | |
| | | | | |
HHHHIHHHHHMMHHIHHHHHHHHHIHHHH
627 | 865 865 865 865 865 865 865 €LY
LZ01

L19%

060G

VS00 0067 Carport A 323x371

Name

Sparren, Raffers

Zeichnung/Drawing

08.02.2024

Datum/Date

Profil/Profile



AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
C

AutoCAD SHX Text
TB1

AutoCAD SHX Text
TB1

AutoCAD SHX Text
PF1

AutoCAD SHX Text
PF1

AutoCAD SHX Text
PF2

AutoCAD SHX Text
TB1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
VS00_0067 Carport A 323x371

AutoCAD SHX Text
Sparren, Rafters

AutoCAD SHX Text
08.02.2024


Teileliste/Specification Grek| Profil | Lange
Pos VS00_0067 Carport A 323x371 pes | Cfofite Lendih
TRAGEBALKE - SUPPORT BEAM
TB1 ~ - ~ 3 | 80x200 | 3250
PFETTEN - PURLINS
PFETTEN - PURLINS
PF2 | ¢ J 1| 80x200 | 5090
SPARREN - RAFTERS
SPR1 - — 20 | L4x145 | 2058
DACHBRETTER - ROOF BOARDS i 7= 135518 | 1720
Lfm/rm
G02-1| GIEBELBRETTER - GABLE BOARDS 18x120 2L.3° 2 | & | 18x120 | 2138
G06-1| GIEBELDECKLEISTEN - GABLE COVER STRIPS 18x58 777h | | - | 18x5s | 2138
T01-1| TRAUFENBRETTER - EAVES BOARDS 18x95 % 7 | 2 | 18x95 | 5090
GS | GIEBELSEGMENT - GABLE DIAMOND <> 2
P20 | STUTZPFOSTE - SUPPORT POST 120x120 #4252, 4| 2 | 120120 | 2200
TP120| ooi s
77| STUTZPFOSTE - SUPPORT POST 120x120 5 1 2 | 120x120 | 2200
TP120| i
27| STUTZPFOSTE - SUPPORT POST 120x120 2| 2 | 120x120 | 2200
TP120| i
"~ | STUTZPFOSTE - SUPPORT POST 120x120 25, | | 120x120 | 1000
"Y1 STUTZPFOSTE - SUPPORT POST 120x120 o | b | 120x120 | 1000
TP1Z01 S1(177PFOSTE - SUPPORT POST 120
¥ _ %120 i, | 3] 120x120 | 1147
TPIZ0 | STUTZPFOSTE - SUPPORT POST 120x120 o | 30| 120x120 | 1141
P30 | STUTZPFOSTE - SUPPORT POST 90x90 o775 | 3| 90x90 | 298
SH | SCHLAGHGLZER - MOUNTING PIECES 3
PT01 | Holzdibel - Wood dowel M8x50 TB1> TP90-1> PF2 12
PT02 | Holzdubel - Wood dowel M12x100  PF1> TB1 6
BFP | Befestigungsplatten fur Sparren - Mounting plate for raffers 10
WO0L4 | Winkel - Angle bracket 90x40x40 SPR1> PF1 20
W05 | Winkel - Angle bracket 90x90x65 TB1> PF1 12
NGO& | NAGEL - NAILS 2.5x50 Dachbretter - Roof boards 704
SR63 | Schrauben - Screws 6.0x180 SPR1 TR q | 20
Kood VS00 0067 Carport A 323x371 Materjal Leht  1/2



AutoCAD SHX Text
4

AutoCAD SHX Text
1000

AutoCAD SHX Text
3

AutoCAD SHX Text
1141

AutoCAD SHX Text
STÜTZPFOSTE - SUPPORT POST 90x90

AutoCAD SHX Text
3

AutoCAD SHX Text
90x90

AutoCAD SHX Text
298

AutoCAD SHX Text
TP90

AutoCAD SHX Text
-1

AutoCAD SHX Text
STÜTZPFOSTE - SUPPORT POST 120x120

AutoCAD SHX Text
2

AutoCAD SHX Text
120x120

AutoCAD SHX Text
2200

AutoCAD SHX Text
TP120

AutoCAD SHX Text
STÜTZPFOSTE - SUPPORT POST 120x120

AutoCAD SHX Text
2

AutoCAD SHX Text
120x120

AutoCAD SHX Text
2200

AutoCAD SHX Text
TP120

AutoCAD SHX Text
-1

AutoCAD SHX Text
-2

AutoCAD SHX Text
STÜTZPFOSTE - SUPPORT POST 120x120

AutoCAD SHX Text
2

AutoCAD SHX Text
120x120

AutoCAD SHX Text
2200

AutoCAD SHX Text
TP120

AutoCAD SHX Text
-3

AutoCAD SHX Text
STÜTZPFOSTE - SUPPORT POST 120x120

AutoCAD SHX Text
TP120

AutoCAD SHX Text
-4

AutoCAD SHX Text
STÜTZPFOSTE - SUPPORT POST 120x120

AutoCAD SHX Text
TP120

AutoCAD SHX Text
-6

AutoCAD SHX Text
120x120

AutoCAD SHX Text
120x120

AutoCAD SHX Text
4

AutoCAD SHX Text
1000

AutoCAD SHX Text
STÜTZPFOSTE - SUPPORT POST 120x120

AutoCAD SHX Text
TP120

AutoCAD SHX Text
-5

AutoCAD SHX Text
120x120

AutoCAD SHX Text
3

AutoCAD SHX Text
1141

AutoCAD SHX Text
STÜTZPFOSTE - SUPPORT POST 120x120

AutoCAD SHX Text
TP120

AutoCAD SHX Text
-7

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TB1 > TP90-1 > PF2

AutoCAD SHX Text
PF1 > TB1

AutoCAD SHX Text
SPR1 > PF1

AutoCAD SHX Text
TB1 > PF1

AutoCAD SHX Text
Dachbretter - Roof boards

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Leht

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
VS00_0067 Carport A 323x371

AutoCAD SHX Text
1/2

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Teileliste/Specification

AutoCAD SHX Text
VS00_0067 Carport A 323x371

AutoCAD SHX Text
TB1

AutoCAD SHX Text
3

AutoCAD SHX Text
80x200

AutoCAD SHX Text
3250

AutoCAD SHX Text
TRÄGEBALKE - SUPPORT BEAM

AutoCAD SHX Text
PF1

AutoCAD SHX Text
2

AutoCAD SHX Text
80x200

AutoCAD SHX Text
5090

AutoCAD SHX Text
PFETTEN - PURLINS

AutoCAD SHX Text
PF2

AutoCAD SHX Text
1

AutoCAD SHX Text
80x200

AutoCAD SHX Text
5090

AutoCAD SHX Text
PFETTEN - PURLINS

AutoCAD SHX Text
SPR1

AutoCAD SHX Text
20

AutoCAD SHX Text
44x145

AutoCAD SHX Text
2058

AutoCAD SHX Text
SPARREN - RAFTERS

AutoCAD SHX Text
BFP

AutoCAD SHX Text
Befestigungsplatten für Sparren - Mounting plate for rafters

AutoCAD SHX Text
10

AutoCAD SHX Text
GS

AutoCAD SHX Text
GIEBELSEGMENT - GABLE DIAMOND

AutoCAD SHX Text
2

AutoCAD SHX Text
PT01

AutoCAD SHX Text
Holzdübel - Wood dowel M8x50

AutoCAD SHX Text
12

AutoCAD SHX Text
PT02

AutoCAD SHX Text
Holzdübel - Wood dowel M12x100

AutoCAD SHX Text
6

AutoCAD SHX Text
NG04

AutoCAD SHX Text
NÄGEL - NAILS 2.5x50

AutoCAD SHX Text
704

AutoCAD SHX Text
SH

AutoCAD SHX Text
SCHLAGHÖLZER - MOUNTING PIECES

AutoCAD SHX Text
3

AutoCAD SHX Text
SR63

AutoCAD SHX Text
Schrauben - Screws 6.0x180

AutoCAD SHX Text
20

AutoCAD SHX Text
W04

AutoCAD SHX Text
Winkel - Angle bracket 90x40x40

AutoCAD SHX Text
20

AutoCAD SHX Text
W05

AutoCAD SHX Text
Winkel - Angle bracket 90x90x65

AutoCAD SHX Text
12

AutoCAD SHX Text
Stck.

AutoCAD SHX Text
Profil

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Länge

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Pcs.

AutoCAD SHX Text
Profile

AutoCAD SHX Text
Length

AutoCAD SHX Text
DACHBRETTER - ROOF BOARDS

AutoCAD SHX Text
135x18

AutoCAD SHX Text
192,0

AutoCAD SHX Text
GIEBELBRETTER - GABLE BOARDS 18x120

AutoCAD SHX Text
4

AutoCAD SHX Text
18x120

AutoCAD SHX Text
2138

AutoCAD SHX Text
G02-1

AutoCAD SHX Text
GIEBELDECKLEISTEN - GABLE COVER STRIPS 18x58

AutoCAD SHX Text
4

AutoCAD SHX Text
18x58

AutoCAD SHX Text
2138

AutoCAD SHX Text
G06-1

AutoCAD SHX Text
TRAUFENBRETTER - EAVES BOARDS 18x95

AutoCAD SHX Text
2

AutoCAD SHX Text
18x95

AutoCAD SHX Text
5090

AutoCAD SHX Text
T01-1

AutoCAD SHX Text
lfm/rm

AutoCAD SHX Text
24,3%%D


Teileliste/Specification

Stk

Lange

|
Pos VS00_0067 Carport A 323x371 pes | Cfofite Lendih
SR37 | Schrauben - Screws 3.5x45 Giebelbrefter - Gable boards 56
Giebelsegment - Gable diamond
Traufenbreffer - Eaves boards
SR52 | Schrauben - Screws 5.0x472 W04, W05 352
SR52 | Schrauben - Screws 5.0x42 BHO1 24
<<21 Schlof3schrauben - Wood bolts M12x130 Mutter - Nut M12 6
U-Scheibe - Washer @30 TP120-1/2/3 > PF1
<<597 Sechskant Holzschrauben - Lag bolts M8x100 U-Scheibe - Washer M8 425 1
fur/for TP120-4, TP120-5, TP120-6, TP120-7 @;%Fiﬁmﬂﬁﬁy
<<532 Sechskant Holzschrauben - Lag bolts M8x120 U-Scheibe - Washer M8 425 28
fur/for TP120-4, TP120-5, TP120-6, TP120-7 @;SY::ﬁmﬁﬁmﬁmw
Sechskant Holzschrauben - Lag bolts M8x70 U-Scheibe - Washer M8 @25
SS512 | ¢ 20
fur/for WOk
<S5L7 Sechskant Holzschrauben - Lag bolts M10x50 U-Scheibe - Washer M10 430 @ 20
fur/for BFP ijﬁ““’
$S5L7 Sechskant Holzschrauben - Lag bolts M10x50 U-Scheibe - Washer M10 430 @ 1
fur/for BHO1 ijﬁﬁﬁp
BHOT | Hohenverstellbar U-Stutzenschuh - Adjustable post suppart brackef M20 %ﬁ% 6
\J, - Bitte selber anpassen (falls notig)! / Cut into length on site (if needed)
Kood VS00 0067 Carport A 323x371 Materjal Leht  2/2



AutoCAD SHX Text
- Bitte selber anpassen (falls nötig)! / Cut into length on site (if needed)!

AutoCAD SHX Text
für/for TP120-4, TP120-5, TP120-6, TP120-7

AutoCAD SHX Text
für/for W04

AutoCAD SHX Text
für/for BFP

AutoCAD SHX Text
Giebelbretter - Gable boards

AutoCAD SHX Text
Giebelsegment - Gable diamond

AutoCAD SHX Text
Traufenbretter - Eaves boards

AutoCAD SHX Text
W04, W05

AutoCAD SHX Text
TP120-1/2/3 > PF1

AutoCAD SHX Text
SS212

AutoCAD SHX Text
Schloßschrauben - Wood bolts M12x130 Mutter - Nut M12

AutoCAD SHX Text
U-Scheibe - Washer Ø30

AutoCAD SHX Text
6

AutoCAD SHX Text
SR37

AutoCAD SHX Text
Schrauben - Screws 3.5x45

AutoCAD SHX Text
56

AutoCAD SHX Text
SR52

AutoCAD SHX Text
Schrauben - Screws 5.0x42

AutoCAD SHX Text
352

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Leht

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
VS00_0067 Carport A 323x371

AutoCAD SHX Text
2/2

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Teileliste/Specification

AutoCAD SHX Text
VS00_0067 Carport A 323x371

AutoCAD SHX Text
SS532

AutoCAD SHX Text
Sechskant Holzschrauben - Lag bolts M8x120 U-Scheibe - Washer M8 Ø25

AutoCAD SHX Text
28

AutoCAD SHX Text
SS512

AutoCAD SHX Text
Sechskant Holzschrauben - Lag bolts M8x70 U-Scheibe - Washer M8 Ø25

AutoCAD SHX Text
20

AutoCAD SHX Text
SS542

AutoCAD SHX Text
Sechskant Holzschrauben - Lag bolts M10x50 U-Scheibe - Washer M10 Ø30

AutoCAD SHX Text
20

AutoCAD SHX Text
Stck.

AutoCAD SHX Text
Profil

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Länge

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Pcs.

AutoCAD SHX Text
Profile

AutoCAD SHX Text
Length

AutoCAD SHX Text
SS522

AutoCAD SHX Text
Sechskant Holzschrauben - Lag bolts M8x100 U-Scheibe - Washer M8 Ø25

AutoCAD SHX Text
für/for TP120-4, TP120-5, TP120-6, TP120-7

AutoCAD SHX Text
14

AutoCAD SHX Text
BH01

AutoCAD SHX Text
SR52

AutoCAD SHX Text
Schrauben - Screws 5.0x42

AutoCAD SHX Text
24

AutoCAD SHX Text
für/for BH01

AutoCAD SHX Text
SS542

AutoCAD SHX Text
Sechskant Holzschrauben - Lag bolts M10x50 U-Scheibe - Washer M10 Ø30

AutoCAD SHX Text
12

AutoCAD SHX Text
BH01

AutoCAD SHX Text
Höhenverstellbar U-Stützenschuh - Adjustable post support bracket M20

AutoCAD SHX Text
6


SR63 { 2

BFP —’ 1 ‘I\
SS542 W 2 "f:w’\ w05
7 —

SR52

SS512 s 1

7

Name VS00 0067 Carport A 323x37

_

Zeichnung/Drawing 3 D

Profil/Profile Datum/Date 08 Q 2 :)2['_



AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
VS00_0067 Carport A 323x371

AutoCAD SHX Text
3D

AutoCAD SHX Text
08.02.2024

AutoCAD SHX Text
SR52

AutoCAD SHX Text
8

AutoCAD SHX Text
SS512

AutoCAD SHX Text
1

AutoCAD SHX Text
W04

AutoCAD SHX Text
1

AutoCAD SHX Text
BFP

AutoCAD SHX Text
1

AutoCAD SHX Text
SS542

AutoCAD SHX Text
2

AutoCAD SHX Text
SS532

AutoCAD SHX Text
1

AutoCAD SHX Text
SS522

AutoCAD SHX Text
1

AutoCAD SHX Text
SR52

AutoCAD SHX Text
32

AutoCAD SHX Text
W05

AutoCAD SHX Text
2

AutoCAD SHX Text
SS212

AutoCAD SHX Text
1

AutoCAD SHX Text
PT02

AutoCAD SHX Text
1

AutoCAD SHX Text
PT01

AutoCAD SHX Text
2

AutoCAD SHX Text
SR63

AutoCAD SHX Text
2


VS00 0067 Carport A - Aufbauanleitung / Installation instructions / Paigaldus juhend

]

$S532 M

SR52

BHO1

SS542 W 2



AutoCAD SHX Text
1

AutoCAD SHX Text
VS00_0067 Carport A - Aufbauanleitung / Installation instructions / Paigaldusjuhend - Aufbauanleitung / Installation instructions / Paigaldusjuhend

AutoCAD SHX Text
SS532

AutoCAD SHX Text
SS212

AutoCAD SHX Text
SS532

AutoCAD SHX Text
SS522

AutoCAD SHX Text
SR52

AutoCAD SHX Text
SS542

AutoCAD SHX Text
BH01

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
2


VS00 0067 Carport A - Aufbauanleitung / Installation instructions / Paigaldus juhend

3

~J

NB!' Unfersfutzung bei Bedarf / Support when needed / Vajadusel foestage

/,

PT0Z

W05

SR52



AutoCAD SHX Text
X=Y

AutoCAD SHX Text
PT02

AutoCAD SHX Text
SR52

AutoCAD SHX Text
W05

AutoCAD SHX Text
SS522

AutoCAD SHX Text
SS532

AutoCAD SHX Text
2

AutoCAD SHX Text
32

AutoCAD SHX Text
NB! Unterstützung bei Bedarf / Support when needed / Vajadusel toestage

AutoCAD SHX Text
VS00_0067 Carport A - Aufbauanleitung / Installation instructions / Paigaldusjuhend- Aufbauanleitung / Installation instructions / Paigaldusjuhend

AutoCAD SHX Text
3

AutoCAD SHX Text
4


VS00 0067 Carport A - Aufbauanleitung / Installation instructions / Paigaldus juhend

>

NB! Unterstutzung bei Bedarf / Support when needed / Vajadusel foestage

PTO01

5

B! Bohren Sie ein Loch vor / Predrill a hole / Puurige auk efte

~E

)



AutoCAD SHX Text
PT01

AutoCAD SHX Text
NB! Bohren Sie ein Loch vor / Predrill a hole / Puurige auk ette

AutoCAD SHX Text
BFP

AutoCAD SHX Text
SS542

AutoCAD SHX Text
NB! Unterstützung bei Bedarf / Support when needed / Vajadusel toestage

AutoCAD SHX Text
VS00_0067 Carport A - Aufbauanleitung / Installation instructions / Paigaldusjuhend - Aufbauanleitung / Installation instructions / Paigaldusjuhend

AutoCAD SHX Text
 6mm

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7


port A - Aufbauanleifung / Installation insftructions / Paigaldusjuhend

VS00 0067 Car

X=Y



AutoCAD SHX Text
X=Y

AutoCAD SHX Text
SR63

AutoCAD SHX Text
SR52

AutoCAD SHX Text
SS512

AutoCAD SHX Text
W04

AutoCAD SHX Text
1

AutoCAD SHX Text
8

AutoCAD SHX Text
1

AutoCAD SHX Text
VS00_0067 Carport A - Aufbauanleitung / Installation instructions / Paigaldusjuhend - Aufbauanleitung / Installation instructions / Paigaldusjuhend

AutoCAD SHX Text
8

AutoCAD SHX Text
9


VS00 0067 Carport A - Aufbauanleifung / Installation instructions / Paigaldus juhend

10

NGO04 —

NB! Spannen Sie die Holzschrauben innerhalb einer Woche nach!
NB! Tighten the Bolfs within a week!
NB! Nadala jooksul pingutada poldid ule!



AutoCAD SHX Text
VS00_0067 Carport A - Aufbauanleitung / Installation instructions / Paigaldusjuhend - Aufbauanleitung / Installation instructions / Paigaldusjuhend

AutoCAD SHX Text
NG04

AutoCAD SHX Text
SR37

AutoCAD SHX Text
NB! Spannen Sie die Holzschrauben innerhalb einer Woche nach! 

AutoCAD SHX Text
NB! Tighten the Bolts within a week! 

AutoCAD SHX Text
NB!  Nädala jooksul pingutada poldid üle! 

AutoCAD SHX Text
10

AutoCAD SHX Text
11


Giebeldeckleisten

Gable cover boards
Dachbretter
/Roof Boards

Giebelbrefter
Gable boards

Pfetten/Wandbohlen
Purlins/Wall log

5090
I A] I ISR I 1
. PF1 -
/
Q
N W
O Y
N &Q
| | ON =ilanl
™ PN SN S
> B x| 8&
= =l =l <
— —|— ~—|—
Wand/Wall A T = — =
| 1795 1{ 1795 |
| 1675 I 1675 |
120 120 120
3710

Name VS00_ 0067 Carport A 323x371

Zeichnung/Drawing WAND/WALL A

Profil/Profile Datum/Date O 8 O 2 2 O 2 ['_



AutoCAD SHX Text
120x120

AutoCAD SHX Text
120x120

AutoCAD SHX Text
120x120

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
TP120-1

AutoCAD SHX Text
TP120-2

AutoCAD SHX Text
TP120-3

AutoCAD SHX Text
PF1

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TP120-4

AutoCAD SHX Text
TP120-5

AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
VS00_0067 Carport A 323x371

AutoCAD SHX Text
WAND/WALL A

AutoCAD SHX Text
08.02.2024

AutoCAD SHX Text
Wand/Wall  A

AutoCAD SHX Text
TB1

AutoCAD SHX Text
TB1

AutoCAD SHX Text
TB1

AutoCAD SHX Text
Dachbretter Roof boards

AutoCAD SHX Text
Giebeldeckleisten Gable cover boards

AutoCAD SHX Text
Giebelbretter Gable boards

AutoCAD SHX Text
Pfetten/Wandbohlen Purlins/Wall log

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TP120-4

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TP120-5

AutoCAD SHX Text
120x120


5090

PF2

90x90
TP90-1

90x90
TP90-1

181
-
TB1
T
181
-
|

2698
3048

2200

Wand/Wall B T

| 1795 | 1795 }

Name VS00_ 0067 Carport A 323x371

Zeichnung/Drawing WAND/WALL B

Profil/Profile Datum/Date O 8 O 2 2 O 2 ['_



AutoCAD SHX Text
90x90

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
PF2

AutoCAD SHX Text
90x90

AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
90x90

AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
VS00_0067 Carport A 323x371

AutoCAD SHX Text
WAND/WALL B

AutoCAD SHX Text
08.02.2024

AutoCAD SHX Text
Wand/Wall  B

AutoCAD SHX Text
TB1

AutoCAD SHX Text
TB1

AutoCAD SHX Text
TB1


T 1e 1 I T, I e 1
. PF/ -
Q ) Q
W S8 ez 2
A CEON | A e
Q e Q e
M | N ==
SN SN o~ S
| Pl x| gg
<o N o S
—|— —|— —|—
Wand/Wall C T = — =
| 1795 | 1795 |
| 16775 I 16775 |
120 120 120
3710
Name VS00_ 0067 Carport A 323x371
Zeichnung/Drawing

WAND/WALL C

Profil/Profile

Datum/Date

08.02.2024



AutoCAD SHX Text
120x120

AutoCAD SHX Text
120x120

AutoCAD SHX Text
120x120

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
TP120-3

AutoCAD SHX Text
TP120-2

AutoCAD SHX Text
TP120-1

AutoCAD SHX Text
PF1

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TP120-5

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TP120-4

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TP120-4

AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
VS00_0067 Carport A 323x371

AutoCAD SHX Text
WAND/WALL C

AutoCAD SHX Text
08.02.2024

AutoCAD SHX Text
Wand/Wall  C

AutoCAD SHX Text
TB1

AutoCAD SHX Text
TB1

AutoCAD SHX Text
TB1

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TP120-5


Wand/Wall 1 T

3074

S S =
>[N | ~
Sl <o o
B —|—

) 3010 )
120 3750 120

Name

VS00_ 0067 Carport A 323x371

Zeichnung/Drawing

WAND/WALL 1

Profil/Profile

Datum/Date

08.02.2024



AutoCAD SHX Text
120x120

AutoCAD SHX Text
120x120

AutoCAD SHX Text
90x90

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
TB1

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TP120-3

AutoCAD SHX Text
TP120-1

AutoCAD SHX Text
TP120-6

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TP120-7

AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
VS00_0067 Carport A 323x371

AutoCAD SHX Text
WAND/WALL 1

AutoCAD SHX Text
08.02.2024

AutoCAD SHX Text
Wand/Wall  1

AutoCAD SHX Text
PF1

AutoCAD SHX Text
PF1

AutoCAD SHX Text
PF2


BT

o\

120x120
TP120-2

Wand/Wall 7 T

WA
NyAN
YA
<R

3010

120x120
TP120-2
2200

3074

120

3250

Name

VS00_ 0067 Carport A 323x371

Zeichnung/Drawing

WAND/WALL 2

Profil/Profile

Datum/Date

08.02.2024



AutoCAD SHX Text
120x120

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TB1

AutoCAD SHX Text
TP120-2

AutoCAD SHX Text
TP120-2

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TP120-7

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TP120-6

AutoCAD SHX Text
90x90

AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
VS00_0067 Carport A 323x371

AutoCAD SHX Text
WAND/WALL 2

AutoCAD SHX Text
08.02.2024

AutoCAD SHX Text
Wand/Wall  2

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
PF1

AutoCAD SHX Text
PF1

AutoCAD SHX Text
PF2


Giebeldeckleiste 58x18

Gable cover strip

Giebelbretff 120x18
Gable beard

Wand/Wall 3 T

Giebelsegment
Gable diamond

3074

Sl S S
| N x| N
Sl <l ~
== —|—

) 3010 )
120 3750 120

Name VS00_ 0067 Carport A 323x371
Zeichnung/Drawing WAND/WALL 3
Profil/Profile Datum/Date O 8 O 2 2 O 2 ['_



AutoCAD SHX Text
120x120

AutoCAD SHX Text
120x120

AutoCAD SHX Text
Giebelsegment

AutoCAD SHX Text
Gable diamond

AutoCAD SHX Text
Giebelbrett 120x18

AutoCAD SHX Text
Giebeldeckleiste 58x18

AutoCAD SHX Text
Gable board

AutoCAD SHX Text
Gable cover strip

AutoCAD SHX Text
TB1

AutoCAD SHX Text
TP120-1

AutoCAD SHX Text
TP120-3

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TP120-7

AutoCAD SHX Text
120x120

AutoCAD SHX Text
TP120-6

AutoCAD SHX Text
90x90

AutoCAD SHX Text
TP90-1

AutoCAD SHX Text
Profil/Profile

AutoCAD SHX Text
Zeichnung/Drawing

AutoCAD SHX Text
Datum/Date

AutoCAD SHX Text
Name

AutoCAD SHX Text
VS00_0067 Carport A 323x371

AutoCAD SHX Text
WAND/WALL 3

AutoCAD SHX Text
08.02.2024

AutoCAD SHX Text
Wand/Wall  3

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
PF1

AutoCAD SHX Text
PF1

AutoCAD SHX Text
PF2


